CSE 4215 Midterm Formula & Data Sheet.

1 Constant and Units
h=6.625x 1034 J.s, =16 x 10719 C, k = 1.38 x 10723 J/K, ¢ = 3 x 10® m/s
InW=10""W, 1y W=10"6W

2 Equations

E=hf, f=c¢c/A, d=v-t
Q [dB] = 1010g(Q), log(A - B/C) = log(A) + log(B) — log(C)
P=V.I, V=R-I
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Q-Function Table

2 Q(z) 2 Q(2)
0.0 0.50000 2.0 0.02275
0.1 0.46017 2.1 0.01786
0.2 0.42074 2.2 0.01390
0.3 0.38209 2.3 0.01072
0.4 0.34458 2.4 0.00820
0.5 0.30854 2.5 0.00621
0.6 0.27425 2.6 0.00466
0.7 0.24196 2.7 0.00347
0.8 0.21186 2.8 0.00256
0.9 0.18406 2.9 0.00187
1.0 0.15866 3.0 0.00135
1.1 0.13567 3.1 0.00097
1.2 0.11507 3.2 0.00069
1.3 0.09680 3.3 0.00048
14 0.08076 34 0.00034
1.5 0.06681 3.5 0.00023
1.6 0.05480 3.6 0.00016
1.7 0.04457 3.7 0.00011
1.8 0.03593 3.8 0.00007
1.9 0.02872 39 0.00005

The definition of @ function is:
Q(Z) — / :!.l_e—y?_ﬂ-;?dy
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